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> with(DEtools):

{> dfieldplot((diff(x(t), t)=x(t)*x(t)-y(t)*y(Lt),

(> diff(y(t).t)=x(t)-y(t)]),[x(t),y(t)]), t=-2,.2,x=-2..2, y=-2..2,

> color=blue);
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with(DEtools):with(plots):

d:=dfieldplot([diff(x(t),t)=y(t)~-x(t),
Qiff(y(t),t)=y(t)*y(t)-x(t)*x(t) ], [x(t),¥(t)]), t=-2..2, x=-2..2,
color=blue):

fli=x->exp(x)-1-x;

g =x—e'-1-x
gl:=plot(fl(x),x=-2..2,-2..2,color=red):
f0:r=x->-1-x;

M=x—--l-x
gO:=plot (£f0(x),x=-2..2,-2..2,color=red):
fml:=x->-exp(x)-1-x;

0 et s R I -

gml:=plot(fml(x), x=~2..2,~2..2,color=red):
f2:wx->2%exp(x)~1-x;

R=x->2e"-1-x
fm2:=x->-2%exp(x)-1-x;

ﬁn2.=x—>-2er- l-x
g2:=plot(f2(x),x=-2..2,-2..2,color=red):
gm2:=plot (fm2(x),x=-2..2,~2..2,color=red):
f3:=x->3*exp(x)-1-x;

Bx—s3e’-1-x
fad:=x->4*exp(x)~-1-x;

fA=x->d4e-1-x
fm3:=x->-3*exp(x)-1-x;

fm3=x—-3e -1-x
fod :=x->-4d*exp(x)-1-x;

fmdimx—sde -1-x
g3:=plot(£f3(x),x=-2..2,-2..2,color=red):
gd:=plot(£f4(x),x=-2..2,~2..2,color=red):
gm3:=plot(fm3(x),x=-2..2,-2..2,color=red):
gmd :=plot (fmd (x) ,x=~2..2,-2..2,color=red):
display({d,gml,gm2,gm3,gmd,g0,g91,92,93,94});
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[> with(DEtools):
[> with(plots):
> fi=y->5vexp(y)/4-1-y;
5 y
=y—a>-e-l-y
=) 3 ¥

[> pl:=plot(f(y),y=-6..2,color=red):
[> p2:=plot(-1-y,y=-6..2,color=blue):

-

> display({pl,p2});
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